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QUESTION 1

Your development team asks you to provision twenty exact copies of a three-tier application containing three VMs. Each
copy of the application must be on their own isolated network. The development team also wants to deploy more copies
in the future from a self-service portal.

What will accomplish this task?

A. Create a Heat orchestration template for the application and then launch twenty stacks using the Horizon dashboard
or OpenStack CLI.

B. Use the Contrail fabric manager to define and launch all twenty stacks using an intent-driven automation feature.
C. Create all twenty networks and launch each instance using the Horizon instance creation wizard.

D. Create a Heat orchestration template for the application and then launch twenty stacks using the AppFormix user
interface.

Correct Answer: A

QUESTION 2

What are two advantages of SDN? (Choose two.)
A. centralized management

B. decentralized management

C. programmability

D. static networking

Correct Answer: AC

QUESTION 3

Two virtual machines that belong to the same virtual network are not able to communicate with each other. Which
statement is true in this scenario?

A. A floating IP address is assigned to the virtual machine.

B. Images used to spawn the two virtual machines have different flavors.
C. A security group is blocking the communication.

D. The two virtual machines are in different availability zones.

Correct Answer: C
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QUESTION 4

Which BMS feature ensures that IP address management is consistent between the virtual and physical instances?
A. inventory management

B. image management

C. IPAM management

D. network security management

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/topic-map/bmsmanagement.html

QUESTION 5

Which two interfaces are active in the Contrail analyzer-vm-console-two-if.qcow? traffic analyzer image? (Choose two.)
A. left

B. right

C. monitor

D. management

Correct Answer: AD

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/task/configuration/configuretraffic-analyzer-
vnc.html
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